2023-2024 yaz
Kod: 128
Fonn: Xarici dilds isgiizar vo akademik kommunikasiya-2
Qrup: 22,123

. Which word is a correct past simple verb:

e studied
o taked

e made

e make

e makes

Choose the irregular verb:

e stop
e study
e buy
e smoke
o live

. How _ water do you drink?
e many
e much
e do
e have
e has

Choose the line of regular verbs.

e to write, to cut, to light, to give

e to make, to rise, to send, to trust

e to stay, to look, to ask, to play

e to draw, to marry, to miss, to thin

e to raise, to stop, to eat, to learn

Chose the correct variant: Last Saturday, we .... tired.

o Were
e Be

e Was
o Are

o Is

Choose the correct variant: What is the oil industry used for?

e The oil and gas industry supports millions of American jobs, provides lower energy costs for
consumers

e The Federal Energy Regulatory Commission is the primary body that regulates oil and gas
companies

e The industry grew through the 1800s

e Its products underpin modern society, mainly supplying energy to power industry

e We use petroleum products to propel vehicles, to heat buildings, and to produce electricity

. Who is credited with creating the first model of an electric motor by converting electrical energy into

mechanical energy?

e M.O.Dolo—Dobrovolsky

e D.Maxwell

e E.H.Lenza



10.

11.

12.

13.

14.

B.S.Jacobi
M .Faraday

Choose the correct variant: There .... several facts against this theory.

have
1S
was
has
were

When Ben .... the room, he'll see your present.

Enters

Had entered
Entered
Won't enter
Will enter

The Nil 1s than the Amazon.

longer
long
longest

the longer
the longest

Choose the line of uncountable nouns.

jam, sugar, tie

grape, cotton, lemon
salt, forest, time

bread, progress, advice
ink, baby, life

Choose the correct variant: Do you know which country is the .... in the world?

More popular
More populated
Most populated
Much populated
Most popular

Choose the correct variant: The process of selling goods and services through sales channel to reach its
consumers.

discount
trade
barter
retail
swap

Choose the correct variant: What is an Industry?

There are a number of accessories for its main production units, resulting in a mold that plays an
important role in terms of quality

Mechanical engineering is a heavy industrial complex that produces tools

An industry is a group of companies that are related based on their primary business activities

The history of the chemical industry in Azerbaijan dates back to the 50s and 60s of the last century
Weaving tends to the consumer labor resources and sources of raw materials



15.

16.

17.

18.

19.

20.

21.

22.

Choose the correct variant: What is an example of light industry?
e The manufacturing of consumer electronics is a light industry
e Chemical and petrochemical industry of Azerbaijan

Technological Equipment and Inventory

e The main areas of machine building are machine tool

Choose the correct variant: In summer the children usually  in the garden.

* play

e are playing

e were playing

e had played

¢ have been played

Choose the correct variant: His sister .... born in 2000 in London.

o will
o were
e have
e is

o was

Choose the correct degree of the adjective: My sister is .... than your sister.

e small

e the smallest

e smaller

e smallest

e the small

I’m in my hotel. | a drink in the bar now.
e having

e am having

e is having

e was have

e had

Choose the correct variant: I don’t know .... people in this town.

e many
e alot

e much
o alittle

e too much

Choose the correct variant: They are driving too fast, they
e am going to crash

e is going to crash

e are going to crash

e is go to crashing

e am go to crash

Choose the correct variant: The process of changing resources or raw materials into finished goods is

carried out in .... .
e Fields

e Agriculture

e Stations

The first snap made on the basis of technical means for manual operation operates



23.

24.

25.

26.

27.

28.

29.

Choose the correct variant: This industry that take raw materials from earth and sell it for use or undergo

Industries
All of them

manufacturing process.

Choose the right alternative: Mr Thomas works at the hospital. Heisa .... .

Choose the correct variant: The town is ancient. There are .... old buildings there.

None of them
Secondary Industry
Quaternary Industry
Tertiary Industry
Primary Industry

musician
engineer
doctor
teacher
carpenter

much
few

a little
a lot

a lot of

Choose the correcttense form: They .... dark blue shirts at school.

had worn
wears

has worn
wear

shall wear

Choose the line of regular verbs:

to send, to rise, to put, to trust

to ask, to dress, to water, to watch
to cut, to drive, to light, to give

to draw, to marry, to miss, to think
to raise, to have, to eat, to learn

Choose the correct tense form. My grandparents

are leaving
will leave
left

have left
leaves

The Nil is than the Amazon.

longer
long
longest

the longer
the longest

.... Baku recently.



30.

31.

32.

33.

34.

35.

36.

37.

Choose the lines of countable nouns: 1.grape, head, teacher, 2.money, laptop, lemon, 3.hour, ox,

language, 4.ice, harm, pear, 5.hobby, rose, woman6. shelf, ink, time.

3,5,6
1,2,5
1,3,4
1,3,5
2,4,6

Choose the correct variant: .... many guests from foreign countries in our city last month.

there were
there is
there was
there are
a

Choose the correct variant: There are .... books that [ want to read.

much
very little
only few
a lot of

a lot

Choose the sentence with the correct use of common adjectives:

The movie was so interested

She is a very interesting person

He is the most interesting of the two
We are interesting in learning new skills
I find this book interestingly

Choose the correct tense form. William Shakespeare .... in 1616.

will die
had died
died
dies

has died

Choose the correct variant: A person who robs people’s flats and houses is called a .... .

Fill in the blank with appropriate degree of comparison of adjective: Shakespeare is known as one of the

murder
killer
burglar
thief

mugger

men in English Literature.
more greater
great
greater
greatest
the most greatest

Choose the correct variant: Cactuses need .... water.

little
many



38.

39.

40.

41.

42.

43.

44,

45.

few
a lot
a few

Find the correct option: I need .... help with my homework. Are you free?

e much

e afew

* some

* many

e any

Choose the correct variant: David speaks English  of all the students in the class.

e the most fluently
e most fluently

e the most fluent

e more fluently

o fluent
Choose the correct variant: I dinner with my family now.
e has

e was having

e will be having

e am having

e have

Choose the correct variant: How .... stars are there in the sky?

e any
e much
e some
e many
o little

What has contributed to the significant growth in gas production in the country?
e Shah Deniz gas field commissioning

e Decrease in demand for gas

e Reduction in industrialization efforts

e Decline in oil production

e Expansion of agricultural activities

Choose the correct variant: Internet provider, janitorial services and health care are part of this industry.

e primary industry

e tertiary industry

e quaternary industry

e secondary industry

e industry

What was the significance of the EP-300 complex launched in Sumgayit in 19817
e All of the above

e Introduction of waste—free technology

e High production capacity

e Use of hydrocarbon raw materials from oil refineries of the republic

e Production of ethylene and propylene with modern technology

Choosethe correcttense form: In autumn leaves .... yellow and brown in the forests.
e becomes



46.

47.

48.

49.

50.

51.

52.

e become

e was becoming
e had become

e have become

Find the suitable answer: We both like sailing ...., .... we live near the sea.
® so

e but

e andas

e because

o for

Choose the right alternative: Mr Thomas works at the hospital. Heisa .... .

e musician

e engineer

e doctor

e teacher

e carpenter

Choose the correct variant: .... water do you have in your glass?
e how much

e how many

e when

e which

e where

Choose the correct variant: Jack suddenly  talking when Mary  the room.

e stops, will enter

e stopped, enters

e will stop, entered

e stopped, entered

¢ has stopped, entered

Choose the correct variant: Does your son have .... friends in France?
e alot

e very much

e much

o alittle

e many

Choose the irregular verb:
e stop

o live

e study

® 90

e smoke

Choose the correct variant: I dinner with my family now.
e has

e was having

e will be having
e am having

e have



53.

54.

55.

56.

57.

58.

59.

60.

Choose the correct variant: democracy in the government of Athens in ancient times.

e Thereis

e s there

e There was

e Was there

e There are

Choose the correct variant: Can you tell me the .... way to .... bookstore?
e short, near

e shorter, nearer

e shortest, the nearest

e far, the next

e farther, nearer

Choose the correct variant with the Present Simple:
e He watching a news every day

e He is writing a novel now

We will apply to work tomorrow

e [ am reading a magazine tonight

e Weread a book every week

Choose the correct variant: There are only .... people in the street.

e Few

o Alittle

e Alot

o Afew

e Much

Choose the correct variant: and pupils can’t be successful at all.

e Brave, gloomy

e Hard-working, rude
e Polite, diligent

e Noble, bored

e Lazy, irresponsible

Choose the correct variant: You need to buy new shoes. Those are falling apart!
e an

e any

e much

e a

e some

Choose the correct variant: .... a compass and a spade for you.

e There were
o Itis

e There is

e There are

e There will

Choose the correct variant: In which equipment is the product exposed for a certain period of time and

then ejected from the machine?
e running in parallel

e working continuously

e working cyclically



61.

62.

63.

64.

65.

66.

67.

68.

e intermittent worker

e working semi—continuously
What percentage of cotton yarn production in Russia was accounted for by Azerbaijan in 1913?
e 49%

o 22%
o 10%
e 79%
e 90%

Choose the correct sentence:

e There weren't any chairs in the room

e There wasn't any chairs in the room

e There are no chair in the room

e There were no chair in the room

e There isn't any chairs in the room

Choose the line of uncountable nouns:

e oxygen, mud

e medicine, wall

e drop, prize

e time, phone

e salad, trip

Choose the correct variant expresses plans using "to be going to"?
e We went to the park tomorrow

e [ go to the gym last night

e She is going to the concert yesterday at nine o'clock

e They are going to go to the beach next weekend

e He is going to visit his grandparents yesterday

Choose the correct tense form. She .... Studied Spanish for five years.

o is

e have
e has

e are

e am
Choose the correct variant: Do you have time for me after lunch today?
e is

e some
e any

e are

e an

Where do textile enterprises tend to be built according to the text?
e Near water bodies

e Remote rural areas

e Heavy zones or city hubs

e Urban city centers

e Government regulations

What is industrialization?

e The process of conducting market research

e The process of extracting natural resources



69.

70.

71.

72.

73.

74.

75.

76.

e The process of selling manufactured goods

e The process of industrial goods advancement

e The process of designing consumer products

It’s country in the world.

e dangerous

e the most dangerous

e dangerousest

e dangerounsly

¢ more dangerous

Choose the correct variant: Spring  already  to this part of the country.
e has....come

e had....come

e is...coming

e was .... coming

e will.... come

Choose the correct tense form. I .... just .... my bicycle.
e have .... cleaned

e was .... cleaning

e am .... cleaning

e has ... cleaned

o will .... clean

Choose the correct variant: How .... stars are there in the sky?

e any
e much

e some

e many

o little

Choose the correct variant: How .... information is on the internet?
e much

e many

e some

e any

e some

Choose the correct variant: Would you like to drink .... water?

e an
e any

e a

e some
o few

Choose the line of irregular verbs.

e to write, to leave, to see, to offer

e to make, to marry, to shut, to close

e to be, to cut, to catch, to buy

e to kill, to stop, to work, to like

e to study, to try, to sell, to fly

Choose the correct interrogative sentence:
e When did he have lunch



77.

78.

79.

80.

81.

82.

83.

e When did he had lunch

e When he has lunch

e What time does he has lunch

e When had he lunch

Choose the correct variant: My friends are .... at mathematics but I am very .... at English.
e well, good

e good, good

e good, well

e well, well

e bad, well

Choose the correct variant: A light industry uses light raw materials. In this context, identify such
industry from the following.

¢ aluminium smelting

e iron and steel industry

e eclectrical goods industry

e copper smelting

e iron industry

Chose the correct variant: My phone .... in the middle of the night yesterday.

e Stung
e Broke
e Slept
e Rang
e Cold

Choose the correct variant:

e How many bottles of milk she added?

¢ How many bottles of milk did she added?

¢ How much bottles of milk does she adds?

e How many bottles of milk did she add?

e How many bottles of milk did add she?

Choose the correct variant: [fhe  enough time, he  us.

had, will visit

has, would visit

had, would visit

has, shall visit
e had, visits
Choose the correct variant: The event was canceled .... bad weather conditions.

e Because

e Dueto

e So

e Also

e And

Choose the correct variant: Do we need .... rice?
o Few

e Many

e Any

e Some

¢ Quite many



84.

85.

86.

87.

88.

89.

90.

91.

Which word is a correct past simple verb:

e studied
o taked

e made

e make

e makes
Choose the uncountable noun.
e book

e bag

e pen

e bread

e pencil

Our car is ten years old. We’re going to

a néw one.

Choose the correct variant: Can you give me .... flowers from your garden?

® 90
e study

e stop

e buy

e do

o alittle

e alot

e only few
o afew

e much

Choose the line of uncountable nouns.
e word, driver

e moment, bridge

e drop, literature

e flour, worker

e furniture, toothpaste

Choose the correct variant: My apartment isn’t as .... as yours.

e much convenient
e most convenient
e more convenient
e convenient

e aconvenient

Choose the correct variant: There is .... water in this well. 1.much, 2.many, 3.a few, 4.enough.

o 34

o 1,2

o 24

o 14

e 273

Goodbye!  agood day!
o did

e do

e have

e is



e are
92. Choose the correct variant: We .... European.

o was
e be
o is
e does
e are
93. Choose the correct variant: There were lots of pictures  the walls.
e from
e on
e in
e into
e at

94. Choosethe correct variant: .... cold yesterday.
e There were
e There was

e There is
o Itis
e Jtwas

95. Choose the correct variant: What is a continuous mechanical press?
® screw press
® screw press
e hydraulic press
e pneumatic press
e lingli pres
96. What led to the appearance of machine—building and metal-working enterprises in Baku in the late 19th
century?
e Introduction of agricultural reforms
e Development of oil, chemistry, and shipping
e Establishment of educational institutions
e Expansion of tourism industry
e Implementation of healthcare initiatives
97. What types of products are currently produced by the Open Joint—Stock Company established in
Azerbaijan in 2001?
¢ Oil extraction gear production
e Consumer electronics and household appliances
e Textiles and clothing items
e Automotive parts and accessories
e Construction materials and supplies
98. Choose the correct variant: They say there .... an accident here yesterday.

e was
e has been
o were

e had been
e i3

99. Choose the correct variant: I .... currently studying for my exams.
e am



100.

101.

102.

is
are
has
was
Choose the line of irregular verbs.
come, be, listen
move, make, speak
take, play, look
go, have, start
see, leave, take
What role does the Ethylene—Polyethylene plant play in Azerbaijan's chemical industry?
Distributor of petrochemical equipment
Leading producer of synthetic rubber
Exporter of aluminum products
Manufacturer of superphosphate
Major supplier of raw materials
What is the term for the science and technology industry involved in the development and

production of electrical machines and transformers?

103.

104.

105.

106.

Mechanical engineering
Civil engineering
Electrical engineering
Chemical engineering
Aerospace engineering
Choose the correct variant: How many goals in the first half?
did your team score
did your team scored
does your team scored
does your team scoring
do your team scored
Choose the correct degree of the adjective: My sister is .... than your sister.
small
the smallest
smaller
smallest
the small
Choose the correct degree of the adjective: This is .... armchair in the room.
More comfortable
Comfortable
The most comfortable
Much comfortable
Most comfortable
Choose the correct degree of adjective: Peter’s very .... at tennis. He won the game.
worst
well
goodly
best
good



107.

108.

109.

110.

111.

112.

Choose the correct variant:
They swam in the lake last summer
He runned five miles yesterday
She writed a letter to her best friend
I goed to the party last Saturday
We comed home late
Choose the correct variant: Do you know which country is the .... in the world?
More popular
More populated
Most populated
Much populated
Most popular
Choose the correct variant: He  to delegations at the moment.
talks
was talking
will talk
is talking
will talk
Choose the correct variant: Turn  the TV, so you can concentrate  your homework.
off, on
on, to
on, of
off, at
to, for
Choose the correct variant: My sister  the dishes every morning.
is washing
was washing
washes
had washed
has been washed
Choose the correct variant: _ a security guard in the shop?
Is there
There are
Are there
There is
There isn’t
Choose the correct tense form. I .... Steven in the church last Sunday.
don’t see
didn’t see
won’t see
haven’t seen
had seen
In which sentence can you write like?
I .... to study engineering when I finish school
I really .... scary films
I .... a hamburger and a coke, please
I.... to go to Japan



115.

116.

117.

118.

I.... to work in a chocolate factory
Which sentence uses articles and determiners correctly?
We need any help with the project
Can I have some apple, please
I don't have any oranges
She is making a homework
There is an interesting movie on TV
Choose the correct form of verb: One of my skills is that I .... some computer knowledge.
has
had
did
does
have
Choose the correct variant: of the students use their student IDs to enter the building.
The
Every
No
The whole
All
Find the correct variant to complete the sentence: I .... have a lot of time, so I .... do the shopping

myself.

119.

120.

121.

122.

didn’t/did
doesn’t/does
don’t/don’t
did/didn’t
doesn’t/don’t
Choose the correct answer: I .... have a shower yesterday evening.
don’t
didn’t
doesn’t
haven’t
hadn’t
Choose the correct pronoun: .... of the students are not ready for the lesson.
Anyone
Someone
Something
Any
Some
Choose the correct variant: My uncle is  farmer and he has got  interesting job.
a,a
the, a

—, an
a, an
Choose the correct variant: David .... know how to ride a bicycle so he always has accidents.
Did
Does



e Don’t
e Do
e Doesn’t
123. When did carpet weaving originate in Azerbaijan?
e XIII century
e XVII century
e XIX century

e XX century
e XV century

124. Why was the development of factories in Azerbaijan's light industry artificially slowed down in
the past?

e Lack of market demand

e Lack of skilled labor

e Government regulations
e Fear of raw material loss
e Environmental concerns

125. Find the correct option: There .... some women in the yard yesterday.
® was
* were
e are
e is
o will be
126. Choose the regular verb:
e meet
e do
e study
® see
® g0
127. [ drive
e quick
e slow
* very
o slowly
e (uite
128. What  you usually wear to work?
e has
e are
e is
e have
e do
129. Choose the correct variant: _ a security guard in the shop?
o Isthere

e There are
e Are there
e There is

e Thereisn’t



130.

131.

132.

133.

134.

135.

Choose the correct variant :
There was a rainbow after the rain
There were a storm last night
I were happy to see them
There was three cars in the garage
They was playing in the garden
Choose the correct variant:
There is five apples in the basket
There are a cat on the roof
There is six trees in the garden
There are many people in the park
There are a girl on the tree
Identify the sentence with the correct use of quantifiers:
She has a little money in her wallet
He has a lot of problems
We have few time to finish the project
I have many friends in the city
There is much people in the park
Choose the sentence with the correct use of conjunctions and connecting words:
I like both apples but oranges
She 1s smart and she dances well
They prefer neither coffee nor tea and fruit juice
He wanted to travel; however, he stayed at home
We have a dog, but we want a cat
Choose the correct degree of adjective: A country is .... than a city.
cheapest
cheap
cheaper
more cheaper
the cheapest
Choose the correct variant: She worked really .... and passed her exam.
hardly
too good
hard
badly
enough well
Choose the correct variant: She went to bed early  she was tired.
but
though
however
because
before
Choose the line of uncountable nouns:
Slice, sponge, bucket
River, village, hammer
Heat, hotel, match
Rice, sand, patience



138.

139.

140.

141.

142.

143.

144.

145.

Cotton, language, hand
Choose the correct option: Would you like to listen to .... music?
any
some
many
a
an
Choose the correct variant: The next test is really hard, .... you should study more.
Because
But
That
For
So
Choose the correct variant: —Have you received any applications for the job? —Yes, but only

few
a lot
a little
much
a few
Goodbye!  a good day!
did
do
have
is
are
Choose the correct variant: Tom .... worked here for long.
aren't
not
haven't
has not
weren 't
Choose the correct variant: .... a nice garden in front of our house.
Is there
There were
There are
Are there
There is
Chose the correct conjunction word: The woman .... is sitting on the bench is my aunt.
Which
Who
Whose
What
Where
Which sentence uses superlative adjectives correctly?
I am faster than him
She is the more intelligent in the class



149.

They are the best team in the league
We are the more happy with the result
He is the goodest player on the team
Chose the correct variant: He is .... boy.
Most silent
More silent
A silent
Silent
The best silent
Choose the sentence with the correct use of comparative adjectives:
The weather is good, but yesterday was better
She is more taller than her sister
I am good at math, but he is gooder
They are smarter than us
We are the most fastest runners in the team
Chose the correct variant: I have .... really good friend. Her name is Cathy.
Is
Any
Some
A
An

Choose the correct variant to complete the sentences: .... is there in the bedroom? There ....

beds, 3 televisions and 2 cupboards

150.

151.

152.

What/is
How many/are
What/are
How many/is
How much/is
Choose the correct conjuntion: Kate went to bed early yesterday .... she was tired.
and
because
)
that's why
but
Choose the correct variant: .... a shopping centre here two years ago?
There is
Is there
There was
Was there
There are
Choose the line of irregular verbs:
to spoil, to take, to clean, to write
to cut, to ask, to draw, to lend
to play, to read, to rise, to go
to win, to teach, to steal, to catch
to see, to shake, to give, to promise



153. Choose the line of uncountable nouns:
e Toast, noise, lamb, day, stranger
e Weather, peace, cloud, knife, painter
e Present, boat, chief, pollution, thunder
e Chocolate, cotton, health, jewelry, luggage
e Enemy, branch, garden, tale, milk

154. Choose the correct variant: Don’t disturb him! He  for his math exam.

e is preparing
e prepared
e was preparing

e prepares
e had prepared
155. My surname  Lopez.
e are
o is
e were
e have
e had
156. Choose the correct variant...

e How many languages does speaks this girl
e How many languages does this girl speaks
e How much languages did this girl spoke

e How many languages does this girl speak
e How many languages this girl does speak

157. Choose the correct variant: .... an accident yesterday.

e there was
e there were

e thereis
e there are
e itwas
158. I’'m in my hotel. I a drink in the bar now.
e having

e am having
e is having
e was have
e had
159. Choose the correct variant :
e How many sugar do you need
e How many people are at the party
e How much books do you have
e How much chairs are in the room
e How many water do you drink daily

160. Choose the correct adjectives. A desert is a
3.rainy, humid, 4.sandy, barren.
e 34
o 14

o 1,2

and

area. 1.dry, hot, 2.rich, fruitful,



161.

162.

163.

164.

165.

2,3
1,3

Fill in the blank with appropriate degree of comparison of adjective: I chose this car as my
favorite because it's the of all the ones I have driven.

the most fast
faster
fast
more fast
fastest
Find the correct tense form: Carol .... hard for her exam last week.
aren’t study
didn’t study
isn’t studying
don’t study
doesn’t study
Choose the correct variant: I .... currently studying for my exams.
am
is
are
has
was
Choose the correct variant: She went to bed early  she was tired.
but
though
however
because
before
Complete the sentence with (be) going to + a verb: Our car is ten years old. We're
going buy
go to buy
going to buy
goes to buy
go buy
Choose the correct variant: Julia can't go shopping with us .... she's busy today.
what
although
whom
though
because
Choose the regular verbs: 1.to come, 2.to build, 3.to attract, 4.to entertain.
1,2
2,4
2,3
3,4
1,3
Choose the correct variant: There's .... nice girl in the red car.
some

.... aNEw onc.



169.

170.

171.

172.

173.

174.

175.

an
a
any
few
Choose the regular verb:
g0
meet
see
do
live
Choose the line of uncountable nouns.
jam, sugar, tie
grape, cotton, lemon
salt, forest, time
bread, progress, advice
ink, baby, life
Choose the correct variant: He was making a play for .... girl in the college.
the most prettiest
more pretty
more prettier
pretty
the prettiest
Choose the correct variant: I am lonely. I don’t have .... friends.
some
any
not
a
an
Choose the uncountable nouns.
News, progress
goose, pillow
picture, spider
plant, chair
truck, bridge
Choose the correct variant: His sister .... born in 2000 in London.
will
were
have
is
was
Choose the correct tense form: Look! The sun .... Now.
Set
Was setting
Is setting
Sets
Will have set



176.

178.

179.

180.

181.

182.

Choose the correct degree of the adverb: I sat .... to the teacher than other students.
Near
Much near
Nearest
More nearer
Nearer
Choose the uncountable noun.
book
bag
pen
bread
pencil
Choose the correct variant.
a egg, an apple
an animal, a hour
an union, a river
an house, a igloo
an ocean, an orbit
Choose the correct variant: Do you have time for me after lunch today?
is
some
any
are
an
Choose the correct pronoun: .... of the students are not ready for the lesson.
Anyone
Someone
Something
Any
Some
Which countries are the main exporters of clothing to Azerbaijan, as mentioned in the text?
Brazil, Argentina, Mexico, and Colombia
Russia, Ukraine, Belarus, and Kazakhstan
India, Pakistan, Bangladesh, and Vietnam
Turkey, Iran, China, and some European countries
United States, Canada, China, Japan, and South Korea
Choose the correct variant: In which equipment is the loading and processing of the product

during the entire work cycle, and the unloading is performed once in a certain period?

working periodically
working continuously
working semi—continuously
running in parallel
working intermittently
What is the role of the mold mentioned in the text?
Enhancing the visual appeal of the product
Ensuring material and product movement accuracy
Streamlining administrative processes



187.

188.

189.

190.

191.

Monitoring employee performance
Ensuring compliance with environmental regulations
Chose the correct variant: He is .... boy.
Most silent
More silent
A silent
Silent
The best silent
Choose the correct variant: .... a compass and a spade for you.
There were
Itis
There is
There are
There will
Choose the sentence with the correct use of conjunctions and connecting words:
He wanted to go, but she don't
I like both tea and coffee
They are studying nor working
She prefers neither pizza nor pasta
We will go or stay, depending on the weather
Choose the correct form of to do: I .... my homework myself.
does
do
done
doing
to do
Choose the correct variant: .... cold yesterday.
There were
There was
There is
It is
It was
Choose the correcttense form: She .... the rooms every day.
didn't cleaned
is cleaning
clean
have cleaned
cleans
Choose the correct tense form: I .... to school yesterday.
goes
go
went
to go
going
Choose the correct variant: you usually work for 8 hours a day? Yes, |

week [ for 8 hours a day.

Do/did/didn’t worked

. But last



192.

193.

194.

197.

198.

Did/did/didn’t work
Do/do/didn’t work
Do/did/don’t work
Did/did/doesn’t work
Choose the correct variant: My brother likes football ~ he doesn’t like basketball.
before
though
however
because
but
you seen the film? —yes, I have.
was
had
has
did
have
Choose the correct variant: How many hours .... in a day?
is there
there was
are there
there will be
there are
Match the verbs with the words. 1. .... lunch, a.have, 2. .... up, b.do, 3. .... sport, c.get.
1-a, 2-b, 3—
1—-c, 2—a, 3-b
1-b, 2, 3-a
1-a, 2—, 3-b
1-b, 2—a, 3—c
Choose the line of irregular verbs.
come, be, listen
move, make, speak
take, play, look
go, have, start
see, leave, take
Choose the correct variant: Our teacher explains the lessons  than yours.
clearly
more clearer
more clearly
most clearly
much clearer
Choose the correct variant: Do you have good DVDs I could borrow?
is
some
any
are
an



199.

200.

201.

202.

203.

204.

Choose the correct variant: I am sure he the problem.
is going to solve
am going to solve
are going to solve
are go to solve
am go to crash
Chose the correct variant: I can see a lot of gray clouds in the sky. I think it .... rain soon.
Is going to
Goes to
Going to
Will go
Goes
Choose the correct conjunction: She can’t go with us .... she is busy.
though
before
however
after
because
Choose the correct tense form. My brother has given up smoking .... .
last yea
every year
this year
next year
tomorrow
Make up sentence: 1.Some, 2.Road, 3.Mr.Red, 4.People, 5.The, 6.0n, 7.Met.
7,6,5,3,2,1,4
2,4,3,6,5,1,7
3,6,5,4,7,2,1
1,4,2,3,6,7,5
3,7,1,4,6,5,2
... round the Sun.
went
go
goes
to go
will go
Choose the correct variant: I .... the woman the time, but she .... .
Ask/was answering
Asked/answered
Asked/didn’t answer
Asked/wasn’t answer
Asked/doesn’t answer
Choose the correct variant: When I the doorbell, I to the door.
has heard, go
heard, have gone
will heard, go
heard, went



207.

208.

209.

had heard, have gone
My surname  Lopez.
are
is
were
have
had
What made Sumgayit one of the largest cities in Azerbaijan during the 70s and 80s?
Importation of products from all parts of the former USSR
Full capacity operation of chemical factories
Political developments
Expansion of agriculture
Technological advancements
Choose the correct variant: What types of connections do the details form in machines and

mechanisms?

210.

211.

non—demountable and demountable
bolt, screw, nut
shaft, arrow, pillow
figure, slit, chain
transfer details and transfers documents
Choose the correct variant: David .... know how to ride a bicycle so he always has accidents.
Did
Does
Don’t
Do
Doesn’t
Choose the correct variant: Both the teachers and her students  happy with the results of the

€xam.

212.

214.

is
were
are
has been
was
Choose the correct interrogative sentence:
When did he have lunch
When did he had lunch
When he has lunch
What time does he has lunch
When had he lunch
Choose the correct variant: The largest producer of tungsten in the world is .... .
China
Australia
Russia
USA
Italy
Choose the correct variant: Azerbaijan Republic is famous for its .... .
gold



e il

e cotton
e silver
e titanium
215. What is the main function of the control casing mentioned in the text?

e Improving the finishing elements of the layout

e Increasing the efficiency of the unitary structure

¢ Enhancing the technique of fixing blanks during handling
e Assisting in production audit

e Ensuring product durability

216. Choose the correct variant: She worked really .... and passed her exam.
e hardly
e too good
e hard
e Dbadly
e cnough well
217. Choose the correct variant: Would you like to drink .... water?
e an
e any
e a
e some
o few
218. There  asofain the living room.
e is
e are
e have
e had
e do
219. Choose the correct tense form. When I was in the USA, I .... many places.

e have visited
e am visiting
e visited

o will visit

e visit
220. Choose the correct answer. Most of the town is modern. There are ... old buildings.
o little
* many
e much
e alot
e afew
221. Choose the correct variant with the Present Simple.

e [ reads anovel every night

e We play board games on weekends
e They are playing basketball now

e She is reading a book at the moment
e He am studying for the exam



222.

223.

224.

225.

226.

227.

228.

229.

Choose the correct variant: .... bones are there in the human body?
how far
how much
how often
how many
how long
Choose the correct variant: any planes or helicopters? No,
Were there, there were
There were, were there
Was there, there was
Were there, there weren’t
There are, are there
Choose the correct variant: She .... in South Africa last month.
is
were
are
was
am
Choose the correct variant: We only spent days in Istanbul; on the first day we visited
famous mosques and on the other days we just shopped.
no
a few
little
lots
an
Choose the suitable answer: Would you like .... coffee or tea?
the
an
a
many
Choose the correct variant: In summer the children usually  in the garden.
play
are playing
were playing
had played
have been played
What is the main function of mechanical engineering in the national economy?
Operating transportation systems
Developing software applications
Managing financial transactions
Providing healthcare services
Manufacturing diverse products
When did the world's first industrial oil production begin in Baku?
1858
1848
1859



233.

234.

235.

236.

237.

1911
2001
Choose the correct conjunction: Kate went to bed early yesterday .... she was tired.
and
because
SO
if
than
Choose the correct variant: She .... to somebody on the mobile just now.
Talk
Talks
Was talking
Is talking
Will talk
Choose the correct variant:  your parents _ to work every day?
Do, go
Did went
Has gone
Do went
Have gone
Choose the correct variant: _ you have a good time last summer?
Will
Were
Do
Did
Are
Where  you yesterday?
were
are
was
have
am
Choose the line of uncountable nouns.
happiness, freedom, peace
potato, head, jacket
joy, magazine, forest
hand, art, street
doctor, machine, harm
Choose the correct variant: [ know them quite .... .
best
well
good
better
the best
Choose the sentence with the correct use of conjunctions and connecting words:
He wanted to go, but she don't
I like both tea and coffee



239.

240.

They are studying nor working
She prefers neither pizza nor pasta
We will go or stay, depending on the weather
Choose the correct variant: Students .... go to school every day.
don’t has
has to
haven’t
have to
have
Choose the correct variant: Josefina speaks the Arabic language very , she can be a
interpreter.
well, good
better, good
fluent, better
good, well
best, good
Choose the correct past tense form of these verbs: Feed, dig. burn, rise, sell.
Fed, dug, burnt, rise, sold
Fed, dig, burnt, risen, sold
Feed, dug, burnt, rose, sell
Fed, dug, burnt, rose, sold
Feed, dug, burn, risen, sold
Choose the correct variant: What type of technological connection is applied in food technology

to use energy more effectively?

242.

243.

244.

parallel type
sequential type
sequential—circulation type
cross type
opposite (recyclical) type
Choose the correct variant: Which is the largest gas field in Azerbaijan?
Umid gas field
Absheron gas field
Shah Deniz
Shafag—Asiman gas field
Dan Ulduzu field
Choose the suitable answer: Would you like .... coffee or tea?
the
an
a
many
I TV last night.
watched
watch
watches
was watch
watching



245.

246.

247.

248.

249.

250.

252.

Choose the correct variant: That's a .... idea! Let's do it!
dreadful
bad
awful
good
terrible
Chose the correct variant: [ had to .... dinner last night, so I couldn't watch the TV program.
Cookes
Cooking
Cooked
Cook
Be cook
Find the suitable variant: Our homework .... very difficult yesterday, but today it .... easy.
is/was
was/was
1s/1s
was/is
were/is
Choosethe correct variant: .... not easy to tell the truth.
Was it
There is
It is
Is it
Is there
Choosethe correct variant: Nicklearned to ride a horse .... he was 14.
or
but
if
as
when
Choose the correct variant: Have  of you seen Henry today? I’'ve got _ to tell him.
anybody, anything
any, some
anybody, something
some, nothing
any, something
Choose the correct variant: The furniture we bought recently is .... than the old one.
The most comfortable
Most comfortable
A little comfortable
The more comfortable
More comfortable
Choose the correct variant: Is Sumgait .... as Baku?—No it isn't. Baku is .... city. Baku is one of

.... cities in the world.

as older, elder, the eldest
so old, an older, oldest
as old, an older, the oldest



256.

257.

258.

259.

so older, an elder, eldest
as old, older, the oldest
There  only 3 guests in hotel last day.
did
was
had
were
do
Choose the correct variant: .... many cars in our village.
There was
There aren’t
There is
Was there
Are there
Choose the correct variant..
a egg, an apple
an animal, a hour
an union, a river
an house, a igloo
an ocean, an orbit
Choose the correct conjunction. Blake went to bed early yesterday .... he was tired.
and
because
SO
but
if
Choose the correct variant: The traffic is .... than yesterday
worse
bad
baddest
worst
more bad
Choose the correct variant: Alan, walk , your walk makes me get angry.

quickly, quickly

quickly, slow

quickly, slowly

slow, quickly

a little slowly, quick
Choose the correct tense form. When I was in the USA, I .... many places.

have visited

am visiting

visited

will visit

visit



260. Choose the correct variant: What is the name of two or more products consisting of a set of
products of general operational purpose that are not combined and of an auxiliary nature in a
manufacturer—enterprise?

e set

e complex
e detail

e node

e collection unit
261. What was the task set in the first years of Soviet rule regarding the country's energy base?
e Decreased production
e Rapid development
e Stagnation
e Privatization
e Nationalization

262. Choose the regular verbs: 1.to come, 2.to build, 3.to attract, 4.to entertain.
o 1,2
o 24
e 273
o 34
e 13
263. Choose the correct conjuntion: Kate went to bed early yesterday .... she was tired.
e and
e because
® so
e that's why
e but
264. Choose the correct adjectives: Those oranges look . Can I have one? 1.eatable, 2.naughty,
3.handsome, 4.fresh.
e 14
o 24
o 1,2
e 13
e 23
265. Choose the correct variant: Although there were witnesses, the number of residents who
have been questioned on this matter is quite small.
e lots
e much
e plenty
e alotof
e none
266. Find the correct variant: Tom is much nicer .... his brother.
o these
e that
e this
e then

e than



267.

268.

269.

270.

272.

273.

274.

Choose the correct tense form: I .... anything since breakfast so I fell very
wasn't drinking
didn't drink
won't drink
haven't drunk
hadn't drunk

thirsty now.

Choose the correct variant: John studied little, so .... people expected him to pass the exam.

much
a lot of
many
very few
a little
Choose the correct variant: Where .... Sam and Joe? “I don’t know. They .
Was, were
Are, was
Am, were
Is, were
Are, were
Choose the correct variant: My sister  just  the dishes.
has, washed
had, washed
have, washed
did, was
does wash
What is it? —It’s  cat.
a
an
some
any
both
Choose the correct variant: They  half of the materials today.
was collected
had collected
were collected
have collected
has collected

... here a few minutes

Choose the correct variant: Tommorrow’s weather will be .... than today’s.

more cooler
much cool
cooler
cool
the coolest
Choose the correct variant: There .... many people in the yard yesterday
be
was
are



e is

o were
275. Choose the correct variant: [ always have  breakfast. It is very important to have  good
breakfast.
e — an
o -
e the, the
e aa
e —a
276. Choose the correct variant: The Ruhr basin is the famous industrial region of .... .
e C(Canada
e China
e Japan

e United Kingdom
e Germany
2717. What plays an important role in determining the quality of the product, according to the text?
e Packaging design
e Marketing strategies
e Employee training programs
e Customer feedback
e Means of production

278. Make up sentence. 1.Have, 2.They, 3.for, 4. married, 5.years, 6.Thirty.
o 1,423,665
e 243,651
e 36,5421
o 2,143,065
e 65,3214
279. Choose the correct variant: They say there .... an accident here yesterday.
® was
e has been
o were
e had been
o is
280. Choose the correct variant: Turtles walk because they are animals.

e slowly; slow

e slowly; slowly
e slow; slow

e slow; slowly

e slowing; slowly

281. Choose the correct pronoun: Do you have .... questions?
e some
e any
e anybody
e anything

e something
282. Choose the correct variant: There are .... tables, but there are not .... chairs.
e —/some



e any/some

e any/any

e some/some
e some/any

283. Choose the correct variant: Both the teachers and her students  happy with the results of the
exam.
e i3
o were
e are
e has been
e was
284. Choose the correct variant: There .... four chairs in the kitchen.
e are
e has
e have
e i3
e was
285. Choose the correct conjuntion: John played well .... everybody applauded him.
e though
e but
o if
e and
e whether
286. Choose the correct past tense form of these verbs: Feed, dig. burn, rise, sell.

e Fed, dug, burnt, rise, sold
e Fed, dig, burnt, risen, sold
e Feed, dug, burnt, rose, sell
e Fed, dug, burnt, rose, sold
e Feed, dug, burn, risen, sold

287. Choose the correct variant: They  a nice garden.
e has
e has got
e has had
e doesn’t have
e have got
288. Choose the correct variant: —-Have you seen ___ enter the room?—No, we haven’t seen

e any, anybody
e anyone, anyone
e anything, any
e somebody, someone
e any, something

289. Choose the correct variant: She is a .... learner. She learns very .... .
e quick, more quickly
e quickly, quickly
e quick, most quickly
e quickly, quick
e quick, quickly



290.

291.

292.

293.

294.

295.

296.

297.

Choose the correct variant: We .... at school last Saturday.
is
was
were
am
are
Chose the correct variant: Last Saturday, we .... tired.
Were
Be
Was
Are
Is
Where  you yesterday?
were
are
was
have
am
Choose the correct variant: She .... in South Africa last month.
is
were
are
was
am
Which of the following is an example of an extractive industry?
Machinery and equipment manufacturing
Paper manufacturing
Fishing and seafood production
Chemical production
Automotive assembly
Choose the correct variant: The leading producer of gold in the world is
USA
South Africa
China
Australia
Russia
Choose the correct pronoun: Do you have .... questions?
some
any
anybody
anything
something

Choose the correct variant: Our English class is .... than your math class.

much interesting
the most interesting
more interesting
very interesting



298.

299.

300.

301.

303.

304.

305.

interesting
Which sentence correctly uses a quantifier?
They have any oranges
They have much oranges
They have many oranges
They have every of oranges
They have an oranges
Choose the sentence with the correct use of uncountable nouns:
She needs some advices
He bought some new furniture
We have a lot of informations
I spilled some water on the floor
I bought two furnitures for the living room
Choose the correct variant. We ..... ever go to the cinema.
hardly
hard
harder
hardest
the hardest
Find the suitable answer: They .... going .... a car this year.
aren’t/got
aren’t/get
aren’t/getting
aren’t/to get
aren’t/to getting
Choose the correct tense form: Huseyn Javid .... from Istanbul University in 1909.
graduated
has graduated
grauates
will graduate
is graduating
Define the correct tense form: Dave .... a student with her work now.
helps
help
helped
helping
is helping
Choose the correct variant: There were lots of pictures  the walls.
from
on
in
into
at
Choose the correct variant: What is the set of numerical values of the main parameters

characterizing the environment or working zone where the technological operation is performed called?

technological phase
technological operation



307.

308.

technological process
technological regime
technological stage
What was the electricity production in Russia in 1913?
1880 billion kWh
1.1 million kWh
1.9 billion kWh
6 million kW
8 million kW
Choose the correct variant: What is .... difference between .... translator and .... interpreter?
—/a/a
The/the/a
The/a/an
)
The/-/—
Choose the correct variant: 1.a few piece of information, 2.a few information centers, 3.a little

useful information, 4. much information, 5.a little pieces of information.

309.

311.

312.

1,3,5
1,2,5
1,3,4
24,5
2,3,4
Choose the correct variant: The committee consists  ten members.
at
from
in
into
of
Choose the correct variant: The Turkish language  easy to learn for me.
have been
were
are
is
weren’t
Choose the correct conjunction. She listened to me, ... didn’t understand it.
and
SO
but
because
if
Choose the correct tense form. Look! Somebody .... through the window.
is jumping
jumps
will jump
jumped
to jump



313.

314.

315.

316.

317.

318.

Identify the sentence using "Would you like?" correctly:
We would like going to the party
She would like a help with the task
Would you like to coffee
They would like the movie
I would like to meet you at 3 PM
Choose the correct variant: all of his sandwiches?
Am he go to eat
Are he going to eat
Am he going to eat
Is he going to eat
Are he go to eat
Choose the correct variant: Can you give me .... flowers from your garden?
a little
a lot
only few
a few
much
Choose the correct variant: She .... to somebody on the mobile just now.
Talk
Talks
Was talking
Is talking
Will talk
Choose the correct variant: Which of these details is a general purpose detail?
pillow, crankshaft, shaft, axle
bolt, nut, shaft, axle
drum, cartridge, bolt, nut
crankshaft, gear wheel, figure, screw
nut, crack, cartridge, arrow
Choose the correct variant: Since when has oil been extracted industrially (with the help of

technology) in Azerbaijan?

1871
1848
1900
1920
1932
Choose the correct variant: What is the chlorine—caustic process in electrochemical industries?
electrorefining
electrowinning
electro—separation
electroplating
arc process
Choose the correct variant:
How many bottles of milk she added?
How many bottles of milk did she added?
How much bottles of milk does she adds?



e How many bottles of milk did she add?
e How many bottles of milk did add she?

321. Fill in the blank with appropriate degree of comparison of adjective: Shakespeare is known as
one of the men in English Literature.
e more greater
e great
e greater
e greatest

e the most greatest
322. Identify the sentence with the correct use of "to be going" for predictions:
e He is going to finish the book tomorrow
e We are going to visit them last month
e [t is going to rain yesterday
e They were going to travel next year
e She is going to win the competition
323. Choose the correct variant: .... a chocolate? Yes, please.
e would like you
e do like
e does she like
e would you like
e did you like

324. Choose the correct variant: I think we should move to my .... house.
o _
e the
e a
e any
e an
325. Choose the line of uncountable nouns:

e blood, butter, perfume
e water, eye, shirt
e age, answer, army
e light, map, toy
e cotton, kitchen, bottle
326. Choose the line of irregular verbs:
¢ to shine, to rise, to cycle, to drive
e to hide, to kill, to feed, to drink
e to stop, to grow, to lend, to eat
e to fly, to lead, to show, to tear
e to weep, to keep, to die, to mean

327. Choose the correct tense form. She .... Studied Spanish for five years.
o is
e have
e has
e are
e am
328. Choose the correct conjunction: John played well .... everybody applauded him.

e Or



329.

330.

331.

335.

where
and
but
if
Choose the regular verb:
meet
g0
do
work
see
Circle the correct variant with a verb in the past simple.
go—have go
go—goes
go—went
go—goed
go—do go
Which word goes in the space? Simon and Emma .... going to get married.
is
don’t
isn’t
doesn’t
aren’t
Choose the correct variant: We .... European.
was
be
is
does
are
Choose the correct variant: The children .... playing in the park when I saw them.
was
were
is
am
are
I TV last night.
watched
watch
watches
was watch
watching
Choose the correct tense form: .... you .... in this office since last year?
Were, working
Did, work
Have, worked
Will, work
Will, be working



336. Choose the correct variant: Production of products using labor, machines, methods and tools for
use or sale.
e international trade
e manufacturing
e agribusiness
e retail products
e trade
337. Choose the correct variant: What is characteristic of intermittent equipment?
e product loading, processing and unloading are performed according to the program
¢ loading, processing and unloading of the product is carried out during the entire business cycle
e product loading, processing and unloading are performed simultaneously
¢ Joading and processing of the product is carried out during the entire work cycle, and unloading is
carried out at certain intervals
e the product is exposed for a certain period of time and then removed from the machine
338. Choose the correct variant: What is characteristic of non—stop equipment?
e product loading, processing and unloading are performed according to the program
¢ loading, processing and unloading of the product is carried out during the entire business cycle
e the product is exposed for a certain period of time and then removed from the machine
¢ Jloading and processing of the product is carried out during the entire work cycle, and unloading is
carried out at certain intervals
e product loading, processing and unloading are performed simultaneously

339. Choose the correct option: Some people like .... breakfast, but I don’t.
e had
e too have
e have
e having
e has
340. Choose the correct tense form: .... you .... in this office since last year?
e Were, working
e Did, work
e Have, worked
e Will, work
e Will, be working
341. Choose the correct variant: [ always have  breakfast. It is very important to have  good
breakfast.
e — an
o -
e the, the
e aa
e —a
342. Choose the correct variant: Industrial pollution leads to .... .

e Air pollution

e All of them

e Water pollution
e Soil pollution

e None of them



343.

344.

345.

Choose the correct variant: This industry is involved in information technology business.
quaternary industry
secondary industry
industry
tertiary industry
primary industry
Find the suitable answer: We both like sailing ...., .... we live near the sea.
SO
but
and as
because
for
Choose the correct degree of the adjective: Little Nick was .... boy among the children in his

group.

346.

348.

349.

350.

much talented
talented
more talented
best talented
the most talented
Which sentence correctly expresses plans using "to be going to"?
I go to the beach last weekend
She will be going to the concert next week
They are going to studying for the exam
We are going to watch a movie tonight
He went to the gym yesterday
Choose the correct tense form: In autumn leaves .... yellow and brown in the forests.
becomes
become
was becoming
had become
have become
Choose the correct variant: Industrial pollution leads to .... .
Air pollution
All of them
Water pollution
Soil pollution
None of them
Choose the correct variant: This industry is involved in information technology business.
quaternary industry
secondary industry
industry
tertiary industry
primary industry
Choose the correct variant: What is the set of numerical values of the main parameters

characterizing the environment or working zone where the technological operation is performed called?

technological phase
technological operation



e technological process
e technological regime
e technological stage



